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1．
(1) mod 7で考えると，73 3

(2) mod 7で考えると， 3 4 

(3) mod 13で考えると，

99 103 8 12 96 5    

なので，13で割った余りは 5 ．
(注) あるいは，

99 103 8 ( 1) 8 5      

と考えてもよい．

(4) mod 9で考えると，
2 2

2 29004 90005 4 5 41 5  

なので，9で割った余りは 5 ．
(注) あるいは，

2 2
2 29004 90005 4 ( 4) 32 5    

と考えてもよい．

2．
(1) mod 3で考えて，

1 2 3 4 5 6 7 8 9 10

2 2 3 4 5

1 2 3 4 5 6 7 8 9 10

( 1) 0 11 1 ( )

        

     
6 7 8 9 100 1 ( 1) 0 1     

1 1 0 1 1 0 1 1 0 1

5

2

         



であるから，3で割った余りは 2 ．

(2) mod 17で考えて，
168 167 166

( 1) ( 2) ( 3) ( 4)
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169  
       



であるから，17で割った余りは 7 ．


